Murshidabad Zilla Parishad

Panchanantala: Berhampore

e-mail: aeomsd@gmail.com / demsdzp@gmail.com

Memo No. 3744/ZP

Date: 06/11/2019

NOTICE INVITING e-AUCTION NO. MSD/06/2019-20

For and on behalf of Murshidabad Zilla Parishad, bids are hereby invited for e-Auction from Bonafide individuals, firms and companies for sale of standing tree along the Kiriteswary to Asandighi Road (Chain age from 0.00 KMP to 5.50 KMP) at Nabagram Block under Lalbagh Sub-Division only through on-line mode of bidding in the Govt. e-Auction System [http://eauction.gov.in]. The terms & conditions to participate in e-auction are given below. It is also available at the Office of Murshidabad Zilla Parishad.

Sl. No.	Description of work	Class of Bidders	Base Rate [in Rs.]	Earnest Money [10% of Base Rate] in Rs.	Cost of bidding documents in Rs.	Contract period (days)
(1)	(2)	(3)	(4)	(5)	(6)	(7)
(1)	Harvesting & sale of standing trees along the Kiriteswary to Asandighi Road (Chain age from 0.00 KMP to 5.50 KMP) at Nabagram Block under Lalbagh Sub-Division	Bonafide Bidders	587147.00	58800.00	600.00	15 Days (from the date of issuance of the work order)

Details of tree (tree species, quantity, volume, rate etc.) are given below:-

Species	Girth Class	No.	Volume (m ³)	Rate (Rs.)/m ³	Amount (Rs.)
	76-120 cm	1	0.063	7000.00	441.00
JAM	121-180 cm	1	0.211	9000.00	1899.00
JANA	Upto 75 cm	4	0.181	7700.00	1393.70
ARJUNA	76-120 cm	32	10.597	10000.00	105970.00
myonii	121-180 cm	23	18.708	12000.00	224496.00
	Upto 75 cm	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	10000.00	3300.00	
	76-120 cm	17	4.164	12000.00	49968.00
SISSOO	121-180 cm	12	6.540	15500.00	101370.00
5.0000	181 & above	1	1.070	18000.00	19260.00
	76-120 cm	4	0.907	2700.00	2448.90
KRISHNOCHURA	121-180 cm	9	5.411	3500.00	18938.50
	181 cm & above	1	1.375	4500.00	6187.50
EUCALYPTUS	121-180 cm	5	4.682	9000.00	42138.00
RAIN TREE	76-120 cm	3	0.680	7000.00	4760.00
AMRA	76-120 cm	1	0.090	2700.00	243.00
AMICA	181 & above	1	0.474	4500.00	2133.00
Misc. Fire	Misc. Fire wood		5.500	400.00	2200.00
wood(Approx.)	TOTAL	120	60.983		587146.60
	TOTAL	120		OR SAY	587147.00

Intending bidders must have Digital Signature Certificate [DSC] for e-submission of their bids on-line through e-procurement Portal & to participate in the competitive bidding. Relevant documents [listed below] should be uploaded with the bidding documents. Murshidabad Zilla Parishad does not take any responsibility for the delay caused due to non-availability of Internet connection or traffic jam or any other technical issues.

Importance Date & Time for E-Auction are given below:-

Sl No.	Events	Dates	Time
1	Publish Date	06-11-2019	18:00 hours
2	Submission Start Date	06-11-2019	18:00 hours
3	Submission End Date	14-11-2019	16:00 hours
4	Approval Start Date	14-11-2019	16:30 hours
5	Approval End Date	18-11-2019	16:00 hours
6	Auction Start Date	18-11-2019	17:00 hours
7	Auction End Date	21-11-2019	14:00 hours

Cost of Bidding Documents and Security Deposit should be deposited in IDBI Bank Account No. 0257104000108225, IFS CODE – IBKL0000257 in favour of MZP Tender A/C, through RTGS/NEFT/CBS System only. The NIA No. And/or UTR number should be clearly mentioned on the deposit challan. Payment made otherwise will be rejected.

Auction Elapse time is maximum 15[fifteen] minutes and Auction Bid auto extensions is also 15[fifteen] minutes. The e-auction shall be an ascending forward online electronic auction. Minimum incremental value is 10% of base rate and maximum is 50% of base rate.

The Eligibility Criteria and other terms & conditions are given below:-

- 1. Income Tax return should be uploaded for the A.Y. 2016-17, 2017-18 and 2018-19 with the auction documents.
- 2. PAN Card, Voter Card [for individual only], P. Tax Challan for the financial year 2019-2020 and trade license should be uploaded.
- 3. The partnership firm shall furnish the partnership deed in the case of Registered Company from Govt. of WB, Kolkata, West Bengal, Company shall furnish the Article of Association and Memorandum.
- 4. Registered Unemployed Engineers' Co-operative Societies/ Unemployed Labour Co.- Op. Societies are required to furnish valid Bye Law, Current Audit Report, Valid Clearance Certificate from A.R.C.S. for the last year along with other relevant supporting papers.
- 5. No CONDITIONAL/ INCOMPLETE auction will be accepted under any circumstances.
- 6. Receipt copy of deposit (Cost of Tender Paper & Earnest money) Challan should be submitted/uploaded with the tender documents.
- 7. All the documents in proof of their eligibility IN ORIGINAL need to be produced as and when asked and required.
- 8. Bank Solvency Certificate on 100% of Base Rate should also be uploaded.
- 9. The officers holding the auction reserves the right of withdrawing from auction any lot or lots mentioned in the schedule or any part or amending the details of lots or adding further lots in the auction.
- 10. The officers holding auction is not bound to accept the highest offer or any other offer for any lot or lots and will not be bound to provide any reason for the acceptance or rejection of any offer.
- 11. All intending bidders must produce valid PAN and GSTIN registration number issued by the appropriate authority at least three days before the commencement of the auction. The old timber merchants, who have been bidding in the auction for last five years, can produce PAN and

GSTIN registration number on the same day but at least one hour before the commencement of the auction. In any case, a bidder who has applied for obtaining the said certificates but has not received the certificates till the date of auction, he/she will have to sign a declaration in a prescribed form before bidding in the auction. The sale will not be confirmed otherwise. Registered dealers are also required to produce the PAN and GSTIN registration number before attending the auction. If the documents furnished as mentioned above are proved to be materially false, the purchaser shall be liable to be black listed apart from the forfeited of Security Deposits / Earnest Money deposited and cancellation of the agreement and the sale of all lots purchased by him without prejudice to any other action deemed necessary against him under the rules and orders. Such affected lot/lots will be disposed of by the authority in the manner deemed fit.

- 12. All intending bidders are required to produce a declaration before 3 days from the date of Auction stating that he has not been declared Black Listed/Defaulter in any Auction Timber anywhere during the last 2 years.
- 13. All Fresh bidders who are permanent citizens of India shall be allowed to participate in the auction. Such bidders shall have to produce PAN and GSTIN registration number. However the decision to allow such intending bidders to bid in the auction shall rest absolutely on the discretion of the AEO, MZP for the purpose.
- 14. Any association intending to participate in the auction shall have to be constituted as such under the law and registered under the relevant act applicable to it. The Registered deeds and articles of Memorandums of the said association along with certificate of registration shall have to be produced to AEO, MZP for the purpose at least 7(Seven) days before the date of auction.
- 15. Authorized representatives of the companies, corporate bodies or individuals intending to participate in the Auction shall have to submit to the AEO, MZP before participating in the auction, the original registered deed of the Power of Attorney for the purpose.
- 16. Defaulters or purchaser against whom any amount is due and outstanding in respect of any Forest Divisions in West Bengal or against any Division under the West Bengal Forest Development Corporation Limited shall be liable to be debarred from biding in the auction after giving them notice of a fortnight to appear for personal hearing.
- 17. All bids are exclusive of GSTIN / Income Tax and surcharges and other levies as may be applicable under the law. No revenue will be accepted unless full amount of GSTIN, Income Tax Surcharges and other levies are paid along with the revenue.
- 18. Earnest money deposit will be released to the bidder in due course on receipt of application from the purchaser to the AEO, MZP only after he has paid full value of the lot and executed the agreement. Under no circumstances the Earnest Money will be adjusted towards the revenue of any purchased lot or lots. The earnest Money deposited by the unsuccessful bidder will be released in due course on receipt of application along with the production of original receipt(s) from the bidder.
- 19. Trees shall be sold on "As is where is" basis. The conditions and quality of the trees are not guaranteed. AEO, MZP will not accept any liability for the defect or for the deficiencies of any such timber offered for sale. The intending purchasers are requested to inspect the timber, trees, poles, fire wood etc. in the place (mentioned separately) before bidding in the auction to make sure about the quality and kind of timber they are bidding for.
- 20. No claim for variation of measurement of the individual tree offered for sale in the form of lots will be entertained. The intending purchasers are requested to inspect the trees etc. in the place (mentioned separately) before bidding in the auction to make sure the measurement of the trees.

- 21. The purchaser shall have to sign an agreement in the prescribed form within 7(seven) days from the date of confirmation of sale. Both permanent and temporary address shall have to be furnished in the agreement. The purchaser shall also have to pay Rs. 10 (Ten) only in case being the price of non-judicial stamp to be used in the agreement per lot. In case, the purchaser wants copy of such agreement executed, he/she shall apply for the same with deposit of Rs. 50 (fifty) towards cost.
- 22. Purchase price of standing trees will have to be paid in full by the purchaser in one instalment within 7 (seven) days from the date of agreement.
- 23. The produce from the site shall have to be extracted by the purchaser within 15(fifteen) days counted from the date of issuance of the work order. For extraction of produce beyond the 15th day from the date of issuance of the work order, the purchaser shall have to pay surcharge @ Rs. 10.00 (Ten) only per m3 per day against standing volume of the standing trees.
- 24. In the event of default in payment of revenue within the stipulated period and MZP incurring loss due to such default, the purchaser shall be liable to compensate the loss including interest @ 18% per annum on it. In event of the purchaser not agreeing to pay such loss, MZP shall have the right to file suit for damages for recovering the value, including accrued interest there on and other damages if any, under Civil Law without serving any further notice for the same. MZP reserves the right to suspend any such defaulter bidder / Merchant from participating in ensuing auction thereafter till disposal of the pending suit / suits.
- 25. No purchaser shall remove any timber before payment of full revenue in respect of his/her lot/lots and unless the agreement is signed and the timber for sale is marked. It is the responsibility of the purchaser and is obligatory on his /her part to get the agreement signed and timber for sale is marked before removal. The marking should be done in presence of authorised representative of this office and PWD (Roads), Berhampore Sub-division-I.
- 26. The purchaser will be required to take transit passes and follow the rules and regulation as laid down in the West Bengal forest produce Transit Rules 1959 including other Acts and Rules applicable if any, for transport of timber and for subsequent stoppage and checking at the Forest check Post and elsewhere by appropriate authority. No removal of timber shall be allowed from the site by truck, carts or any other mode of transport between the hours of sun set and sun rise nor will any truck, cart of other conveyances for removal of timber will be permitted to remain inside the site between the said hours.
- 27. All operation related with the sold trees must be done either by the lot purchaser him / herself or under the guidance of the lot purchaser. However, only a formally authorized agent will be allowed to act on behalf of the purchaser in respect of the lot/lots purchased. Such letter of authority must declare that the purchaser shall be held responsible for any irregularities committed by the authorized agent/agents and that the authorized agent has not been involved in any criminal offence previously. AEO, MZP, however, reserves the right to allow or not allow any of the agent / agents that the purchaser employee to action behalf of purchaser.
- 28. In the event of any damage done in the Roads, Telephone lines, Electrical lines or any other installation or property either belonging to the Government or to a private party & any life, human cattle, domesticated animals, pets etc in course of operation of the timber, the purchaser concerned shall solely be liable to compensate for the losses. Purchasers will have to take all safety measures required to be taken at road side while cutting, logging, stacking, loading, and unloading and transportation of timber.
- 29. If the purchaser fails to observe any of the condition contained herein and / or in the agreement, it will be lawful for the AEO, MZP to terminate the agreement after issuing a notice in writing to the purchaser, unless the agreement is terminated by effluxion of time and to forfeit the Security Deposit of the lot/lots and to recover from the purchaser such loss as may have accrued to MZP for such termination of the agreement. In addition to forfeiture of the security deposit the

purchaser shall be liable to be declared as a defaulter and in case of resale of the standing tree in respect of which the purchaser has not paid full revenue, the purchaser shall be liable to compensate for the loss, if any under the law.

- 30. Any sum that may become due and payable to the purchaser and the amount deposited as security or any part thereof may be appropriated by the MZP or the officer acting on their behalf against any amount that may become payable by the purchaser to MZP under the provision of any other contract entered in to by the purchaser with the MZP.
- 31. The terms and condition of the sale mentioned above shall be deemed to form a part of the agreement itself which shall have to be executed by the purchaser after confirmation of sale of lot/lots and shall be binding on the parties.

For any additional information regarding e-auction the intending bidder can contact in the Office of the Murshidabad Zilla Parishad, Panchanantala, Berhampore, Murshidabad.

District Engineer, Murshidabad Zilla Parishad

Dated: 06/11/2019

Memo No. 3744 /1(7)/ZP

Copy of NIeA No. MSD/06/2019-20 forwarded for information to the:-

- 1. District Magistrate, Murshidabad.
- 2. Addl. Executive Officer, Murshidabad Zilla Parishad.
- 3. Secretary, Murshidabad Zilla Parishad.
- 4. Finance Controller & Chief Accounts Officer, Murshidabad Zilla Parishad.
- 5. DIO/DIA, NIC, Murshidabad with a request to publish the notice in the District Website.
- The Computer Assistant, Murshidabad Zilla Parishad with a request to publish/upload the Auction Documents in the Website (http://eauction.gov.in) of WB Govt. upto 6.00 PM of 06/11/2019

7. Dealing Assistant, OWN Fund, Murshidabad Zilla Parishad.

District Engineer, Murshidabad Zilla Parishad Dated: 06/11/2019

Memo No. 3744 .../2(22)/ZP

Copy of NIeA No. MSD/06/2019-20 forwarded for information to the:-

1. Sabhadhipati, Zilla Parishad, Murshidabad.

2. Sahakari Sabhadhipati, Zilla Parishad, Murshidabad.

- 3. Karmadhakshya, Purta-Karya-O-Paribahan Sthayee Samity, Zilla Parishad, Murshidabad.
- 4-9. Member, Tender & Purchase Committee, Zilla Parishad, Murshidabad.

10-18. All Karmadhakshyas, Zilla Parishad, Murshidabad.

19-22. All member, Banabhumi O Sanskar Sthayee committee, Murshidabad Zilla Parishad.

District Engineer,
Murshidabad Zilla Parishad
Dated: 06/11/2019

Memo No. 3744/3(52)/ZP

Copy of NIeA No. MSD/06/2019-20 forwarded with a request to display in the Notice Board to the:-

- 1. Divisional Forest officer, Nadia-Murshidabad Division.
- 2. Assistant Divisional Forest officer, Nadia-Murshidabad Division.
- 3-9. Executive Engineer, I&WD / PWD-I & II / PW(Roads)-I & II / P.W. Construction Board / CPWD-I, B.B. Zone, Murshidabad Divn.-I.
- 10-14. Sub-Divisional Officer, Sadar / Domkal / Lalbagh / Kandi / Jangipur, Murshidabad
- 15-41. Executive Officer, All Panchayat Samities of Murshidabad District.
 - 42. Executive Engineer, WBSRDA, Msd. Divn., Zilla Parishad, Murshidabad.
 - 43. Block Development Officer, Nabagram Block.
 - 44. District Information & Cultural Officer, Murshidabad.

- 45. Assistant Labour Commissioner, 120, B.B. Sen Road, Berhampore, Murshidabad
- 46. Assistant Engineer, PWD, Berhampore Sub-Division-I
- 47. Range officer, Berhampore, (North) Range.
- 48. Murshidabad District Builder's Association, Foujdari Court Compound, P.O. Berhampore
- 49. Murshidabad District Allied Contractors Association, N.H.-34, (Near Ranibagan Traffic More), P.O. Berhampore, Murshidabad.
- 50. Murshidabad District Labour Co-Op. Association., Berhampore Lodge, Laldighi, P.O. Berhampore.
- 51. Murshidabad District Engineer's Co-Op. Association., Near Girl's College, P.O. Berhampore.
- 52. Prodhan, Kiriteswari Gram Panchayat.

District Engineer, Murshidabad Zilla Parishad

X/